
Quiz Two: 151-300
Part One: Choose which answer is most similar in meaning to the word in bold.

1.  burst   A. outpouring B. delivery  C. package  D. trade

2.  capacity A. circumference B. comparison C. maximum D. caption

3.  cap A. sheet B. limit C. study D. ground  

4.  carat    A. gas B. vegetable C. stick  D. weight

5.  cherish A. hate  B. speak   C. value  D. certify

6. compensate  A. fill out  B. make up for  C. trade in D. take out

7.  cemetery   A. graveyard B. nest  C. war D. tissue

8. conceivable  A. calculated B. descriptive C. considered D. agreeable  

9.  campaign A. waterway B. effort   C. recognition  D. container

10. cease-fire A. end B. compartment  C. space  D. beginning

11.  cascade A. river B. lake  C. waterfall D. mountain

12. cell  A. substance B. troops C. cavity   D. effect

13. circle A. group  B. journey C. duty D. newspaper

14. camouflage A. blend  B. slaughter C. invest  D. irrigate

15. canine  A. protein B. mule  C. box  D. dog

Part Two: Choose which answer is opposite in meaning to the word in bold.

16.  calamity A. adversity  B. misfortune C. disaster D. happiness 

17. carnivore A. meat eater B. flesh eater C. herbivore   D. carne lover  

18.  cease A. terminate B. continue C. end D. stop

19. charm  A. allure  B. attract C. repulse D. flatter

20. complex A. analytical B. simple C. intricate  D. complicated

21.   competence  A. shrewdness B. failure   C. capability   D. reliability 

22. collapse  A. remain intact B. crumble C. fall      D. break apart

23. captive A. prisoner B. convict C. criminal D.  citizen 

24. certification A. confirmation B. fraud   C. genuineness  D. accuracy 

25. candor  A. honesty B. insincerity  C. frankness  D. simplicity

26. cement A. join B. unite C. disconnect D. make coherent 



27. centrist  A. moderate  B. reasonable C. extreme   D. judicious 

28. clairvoyance A. insight  B. ignorance  C. intuition  D. foreknowledge

29. circulate A. impede  B. distribute  C. disseminate  D. diffuse

30.  champion  A. applaud B. acclaim C. defender  D. disapprove 

Part Three:  Complete each sentence below with the most suitable word from the four answer choices.

31. After doing some boxing-style punch drills and after flicking your wrists, you can also do some__________ 
exercises such as sit-ups, crunches, and push-ups.

A. calisthenic B. butchered   C. burgeoning  D. capable

32. About one of every two Americans die of__________ disease.
A. carbohydrate B. cardiovascular C. cargo   D. cataclysmic 

33. The planning stage of writing requires one to put his ideas into a__________ , purposeful order appropriate to his 
readers.
 A. cognition  B. coherent  C. cocoon  D. cluster

34.  Disclosing the list would give terrorist organizations a__________ picture of the government investigation.  
A. composite   B. compressed C. comprised D. computational

35.  The Titantic, though largely a fictional romance movie, is believed to__________ some historical events of the 
doomed ship. A. chlorophyll   B. cipher C. chronicle D. clad

36.  In Roman mythology, Mercury is the god of__________, travel and thievery, the Roman counterpart of the Greek 
god Hermes, the messenger of the Gods.

A. commerce   B. congregate  C. complete  D. continue  

37.  A small pebble caused a__________ in the windshield. 
A. cowhand  B. creak   C. cramp  D. crack

38.   If a member of your party is buried by an avalanche, his/her only real chance of survival is if you rescue them; 
don't go for help unless you're sure they're dead, because they will be by the time you get back with the__________. 

A. cavalry  B. cavity C. cargo D. cellulose 

39. We'd all be a lot kinder and gentler if the driver's seat were lashed to the front bumper instead of encased in a 
padded steel __________.

A. clump  B. cluster  C. cocoon  D. clearing 

40.   Gregg Marx, a direct descendant of the Marx Brothers, performs his__________ act, “Wet Night...Dry Martini,” 
8:30 p.m. at Feinstein’s at the Cinegrill.
 A. caravan B. caption C. cabaret  D. canvas

41. Despite the slowness and__________ of porcupines on the ground, they are good climbers because they have long, 
curving claws on all four paws.

A. clusters B. clumsiness  C. claws  D. cognition

42.   The number of words in the English language that have been directly borrowed from German is__________ small, 
most of them having been borrowed in recent years.

A. comparatively B.  catastrophic   C. capably       D. causatively 



43.  Unaware of the dangers of deforestation, early settlers made__________ , after which they could plant crops and 
build settlements.

A. clashes B. clumps    C. clearings   D. clarity

44.  Quincy Jones' first major success as a pop music producer came in the early 1960's when he__________ with 
Lesley Gore to create a dozen pop hits including It's My Party and Judy's Turn to Cry. 

A. collected  B. colossal  C. collaborated  D. colonized 

45.  Jones said Tuesday at a forum__________ the 40th anniversary of the event that Wallace later apologized to her for 
blocking the doors of Foster Auditorium on June 11, 1963.

A. combating B. comparing   C. commenting  D. commemorating

46.   The U.S. Fish and Wildlife Service has changed the wolf's status from "endangered" to "threatened" in the lower 48 
states. This lack of federal protection is allowing many western states to wage a war on wolves -- just as they were 
beginning to make a __________ . 

A.  colony  B. comeback  C. collection  D. compatibility

47. Many seaweeds and other plants that do not appear to be green also have __________ and therefore can convert the 
sun's energy into food.

A. chivalry  B. chlorophyll  C. cipher  D. circuit

48. Canpolat and Mayor Mehmet Ozhaseki said a gas __________ had likely exploded in the kitchen, causing the 
building's collapse. 

A. canal  B. canister C. catastrophe   D. caption

49.    Cognitive Psychology is an empirical science and depends on careful experimental procedures and paradigms to 
test theories about these mental processes. This program is especially geared towards the application of formal and 
__________ modeling and neuroscience methods to these basic questions.
 A. compulsion B. computational C. compound   D. composition

50.  With its razor sharp __________ and powerful jaw, the bear is one of the most dangerous predators in a forest.
A. claws B. clads C. civilians  D. combats

Part Four:  Complete each sentence using the correct word form.

51. The fossils include two adult males and one child and are estimated to be 160,000 years old. They were found 
among stone tools and __________hippopotamus bones.

A. butcher B. butchered C. butchering  D. butchers

52. Possible __________agents for brain cancer in firefighters include vinyl chloride, acrylonitrile and formaldehyde.
A. causation  B. causatives  C. causative D. causatively 

53. Dead due to the extreme cold, a __________body was found in the snow just outside of town.  
A. ciphering B. ciphers  C. ciphered D. cipher’s

54. Less than 5 billion years ago, in a distant spiral arm of our galaxy, called the Milky Way, a small cloud of gas and 
dust began to__________under its own weight.
 A. compression  B. compress  C. compressive  D. compresses

55. Asked if he would repeat his anti-Bush message in person, Mandela replied: "You assume that he is going to meet 
me. I wouldn't make that assumption. I have said what I wanted to say and I don't have to repeat it." It was unclear who 
would __________whom. 

A. cold-shouldered B. cold-shouldering C. cold-shoulders D. cold-shoulder

56. __________, these frozen archives give scientists unprecedented views of global climate over the eons.
A. collection B. collectively C. collective D.  collected



57. Researchers have continued to use the techniques of classical __________ for both learning and unlearning certain 
behaviors or fears.

A. condition  B. conditions  C. conditioning  D. conditioned

58. A family is the basic unit in society having as its nucleus two or more adults living together and __________ in the 
care and rearing of their own or adopted children.

A.  cooperate B.  cooperating C.  cooperated D.  cooperation

59. Martin’s Luther King’s house was bombed, and he was convicted along with other boycott leaders on charges of 
__________to interfere with the bus company's operations.

A. conspiring B. conspire  C. conspiracy  D. conspired

60. Once all of the hydrogen is turned into helium, a star will stop fusing hydrogen and will lose its ability to 
__________gravity. 
 A. combat  B. combated  C. combating  D. combats


